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16 2 1 =4 1 (KEEFHR-5ER) 15. 50
50 W IE B 1 (RRATH-%ER) 16. 20
22 & 1 P g 2 (FRRAH-HER) RiG

-0.9 m)
Ade A K Fn 3 (LERmF-%E5) 12. 63
65 #r A B & 2 (RRAT#H-5ER)13.07
3% K—1 (VOLVER-%EE) 13. 69
26 %8 . 32 (LEXAHT-HER) 14,97
337 B 41 (BERT-%ER)15. 48
7346 A FE 1 (EERTHHER) R
by N B (FRETHER) Ri5
e b1 (BRES-HER) Ri5

+1.7 m)

97 ZE A HE2 (LEAT-HER)12.79

6 A E K2 (LERTH-SER)12. 94
6/ BEIE 1 (EERT-HER)13. 42
45 i s K BB 2 (RRAT-HER)13. 45
155 K 5 E1 (FERER5ER)13. 74
STHRE I LE 1 (EREF-HER) 14.54
NN 5EE 2 (FEXTP-5ER)15. 61

+2.4 m)
42 (F i 3 (LRRY-HER)12. 48
2575 #E Gn 2 (LEAAT-HER)13.19
2954 BEST 1 (BRAAH-HER)13. 44
40 > iEF 1 (RRET-HER) 13,51
39 /N B 1 (LREP-%ER)13.58
30 Nk KA1 (FRAAT-HER)14.76
20 5 L oK 3 (BRAAH-HER) Ri5

(28]
1[ 5]
21[ 6]
3[ 3]
41 8]
5[ 4]
6 7]
70 1]
8[ 2]

(448]
1[ 4]
2[ 2]
3[ 8]
41 1]
5[ 7]
[ 3]
[ 5]
[ 6]

(6+8]
1[ 4]
21[ 6]
3[ 2]
41 3]
5[ 5]
6 7]
70 8]

(848]
1[ 4]
21[ 6]
3[ 5]
4[ 3]
50 7]
6L 2]
[ 8]

( 0.1 m)
21 KK ®mHE2 (LEXAT-HER)12. 36
19K el 3 (LERAT-5HER) 13.09
87T 1IhA K¥H2 (LREEH-HER) 13.48
10 & 4G 9lo 2 (LRAEHR-%ER)13.78
59 )\ 77 o ¢ 1 (LEAER-5#ER) 13.98
60 17 2 HLBH 1 (EERTH-%HER)14.00
1407 H sz 1 (LELER-5ER) 15. 56
18 =AM YeHE 1 (LELEHR-5%K) 15. 70

( +1.8 m)
184 7 K& 3 (LEXATHER)12.72
109 #& (L Kyl 1 (EEAH-HER) 14, 22
ME B &1 (ERERHER) 14,52
61 55 &1 (LEAFRHER) 14,77
24 B 5 SEHD 2 (LEARF-%ER)15. 88
67 /NR G KE 2 (LEREF-HER) KI5
NWH KKA2 (EREF-HER Ri5F
1754 B3 (LERATHER) Ri5
( +1.3 m)
52 i i A e 2 (LRFEF-#ER)12. 63
BN A2 (LEAT HER)13.03
11042 | F5 2k 1 (LEAEFR-%HER) 13. 37
1/h78 [ E 2 (VOLVER-%5EE) 13. 49
1028 H E 1 (LEAER-%HER)13.50
23 B fE KM 2 (BEXRAT-HER) 14, 42
10380 KA1 (LERR-HER)15. 71

( +1.2 m)
88K Hak2 (LEET HER)12.43
9 J/U 5L KE 2 (ERRFMT-HER) 12. 66
101 75 B B 1 (EREEP-HER)13. 47
14 W 02 (ERFAH-5ER) 13,53
85 & By HE 2 (LEAT-HER) 14.50
31 A & e 1 (RERRT-5ER) 15. 28
104 g oL AF 1 (LEBET-HER) KR35



iR B

( +0.4 m)

1[ 3]
2[ 5]
3[ 4]
41 6]
5[ 2]
6[ 1]

[ 7]

[ 8]

27 KK
88 1 &k
42 {3+ jk
52 jxt i
97 &% K
18 &
4 e A
9 & It

m 52 (LRARP-HER) 12.17
ik 2 (RRET-HER)12.49
fE1E 3 (ERAT-HER) 12. 55
JR P 2 (RRAT-5ER)12. 69
a2 (LN HER)12. 84
KA 3 (EEXAT-HER) 12.95
K3 (LERMT-HER) Ri5

gk 2 (RRRMT-HER) Ri5

ERBF 100m FTE(IHHFIALL—XR)

(1#8] (

1[ 5]
2[ 6]
3[ 3]
41 8]
5[ 1]
6[ 2]

[ 7]

[ 4]

(3] (

10 5]
2[ 6]
3[ 3]
41 7]
5[ 8]
6 2]
1[0 1]
[ 4]

(58] (

1[ 5]
2[ 4]
3[ 6]
41 3]
5[ 2]
6[ 1]
71 8]
8[ 7]

(78] (

1[ 4]
2[ 6]
3[ 5]
41 3]
5[ 8]
6[ 7]
10 1]

[ 2]

+2.9 m)

M40 g oK 2 (BRUEEHERD 11,1
446 9 A1 (BME-HER) 11,54
479 R A 1 (ERFREHER) 11,63
378w W P F 2 (HEHE-wER) 11,84
270 ¥ & MEAR 2 (Mgmm-swER) 12. 34
38 EE ERk 1 HENRHER) 12,48
282 M O HhvE 1 (kA R ER) Ri5
320 N H A& 3 (e ER) KI5
+1.4 m)

M2 KR & B3 ERE-HERT11.33
326 8% H ME K 2 (HREE-wER) 11,46
408 & B 1 GRERE-HER)11.76
265 9 1 77 & 2 (FEdEm - ER) 12,11
399 AR L 2 (BEXE-HER) 12,25
404 e i T R 1 (RERE-HER) 12,43
266 5 i E oK 2 (e 3w ER) 12. 51
396 #  E AR 3 (REXRE-HER) Ri%

+2.0 m)

402 7k H Al 2 GBEFE-HER)11.29
422 5 sl 2 (A sER) 11,33
NTE F K1 (B EE-5HER) 11,91
325 Il 2 B 2 (EfimE- 5 ER) 12,05
380 BB I 1 (HEdE-HER) 12,22
439 1 (BME-HER)12.32
335 [ g g 1 (ifRE- S ER) 12,45
3812275 ALk 1 (FERRE-HER 13,41
-0.2 m)

4207 M 466 2 (ks s ER) 1497
M F K1 (BME-HwER)11.63
461 RAT A= E 1 Frivfra-5ER) 11. 84
278 FH IR oIk 1 (kA % ER) 12,00
268 [LAHH KRS 2 (fsEmm - ER) 12, 1
484 Rt 1 (WTAE-EER) 12, 56
329 i H R U 1 (iR -5 ER) 13. 20
465 A K 3 (BiEm - ER) Ri5

(28]
1[0 4]
21[ 6]
3[ 3]
41 8]
5[ 2]
6L 1]
70 5]
[ 7]

(448]
1[ 4]
2[ 5]
3[ 3]
47 6]
5[ 7]
6 8]
10 1]
8[ 2]

[648]
1[ 4]
2[ 2]
3[ 5]
47 3]
5[ 1]
6 8]
710 7]
[ 6]

(848]
1[ 5]
21 6]
3[ 3]
41 4]
5[ 2]
6[ 8]
70 7]
[ 1]

( -0.7 m)

308 B8 1 KOHE 3 (FRUHA-#ER) 11.09
AT5 B AT BRI 3 (ERTFhE-HER) 11,70
310/ H K2 (BAXHRHER)12. 01
355 i O HE 2 (RROEE-HER) 12,40
A45 R B e 1 (BME-HER)12.73
280 & = IE M1 (BeEEE-RER) 12,83
429 % KuE 1 (Ekiixs-%5ER) 18. 00
406 3T i FIAL 1 (RERE-WER) KRG
( +1.0 m)

318 Tk Heth 1 (ARASEA-HER)11.75
364 AT HE &k 2 (HRER-wER)11.89
442 /N R 1 (BE -5 ER) 12,00
S1IAF A ZE 2 (BRUER-HER) 12,03

280 A I —E 1 (fRegmm-%HER) 12. 69
263 /K8 By e 1 (WeEmsA-HER) 1281
405 /i kg 1 (BEXRE-RER) 12,90
431 1B 1 ACE 1 (kA -HER) 13. 62
( +0. 1 m)

477 pE R E 2 (ERYRE-SER) 11,41

346 /7 E 2 (RES-HER)11.84
290 WE pr ME R 1 (BN AR TER) 11,87
3427 11 AR 1 (BLE - ER) 12,18
M AR AR 2 (Bl - ER) 12, 38
297 & iy & 1 (EffAE-TER) 12,69

M3 gk EE 1 (LE-%HER)13.06

291 4% K — 1 (HfeE TER Ri5

( +1.1 m)

3764 1 A2 WEER-HER)11.78
MAM N sE K1 (BWE-HER) 11,99
3194k M M1 (ERUER-5ER) 12,15
3779 #R 2 (MElEHER) 12. 21
M3 Er R R 1 (BE-HER) 12,32

407 /) 2R B 1 RERE-HER)12.74
331/ K1 (- S ER) 14. 83
Ri5



[948] (
1[ 4]
2[ 5]
3[ 3]
4[ 6]
5[ 2]
6 7]
[ 8]

[1148] (
1[ 6]
2[ 3]
3[ 5]
4[ 8]
5[ 4]
60 7]
70 2]

+2.3 m)

398 &5 K Ek A 3 (BEXE-HEER) 11,52
400 2 & 2 WEXE-HER)11.62
97 e &% k5 3 BEXF-wER)11.97
MI K% kK2 RER-HER12.13
281 /R AR RR 1 (BRigm e ER) 12. 21
365 A &= B2 (HhEE-HER)13.37
382/ JR B 1 (FEREERER KI5
-0.6 m)

384 M T HrkE 3 (FEEEHER 11,63
403 /M HHE BB 2 (RExm-AER) 11,79
361 E H w1 (RRELREHER 12,10
383FHF I N3 (FEEFHER12.12
4345 A 1 CERERE- R ER) 12, 21
279 =A% KOBE 1 (B m - ER) 12. 31
SV F & B 1 (HERAHER)12.76

iR Rg (248)

(148] (
1[ 3]
2[ 1]
3[ 8]
41 4]
5[ 6]
6 5]
70 2]
8 7]

L
5>

O O Gl Wi —

0.2 m)

326 8% - HEOK 2 (ffRE-ER) 11,55
409 /AR N T GREXRE-HER) 11,58
479 o kr 1 (ERFRAESER) 11,61
446 Fria FF 1 (BME-HER) 11,63
400 2 & a2 (REXE-RER)T11.69
398 &5 AR @k AN 3 (ERE-HER) 1171
384 M0 T HraE 3 (FHIEmE-HER) 11,72
M F K1 (EME-HER11.82

op

308 B 1 R 3 (MROUER-HER) 10. 84 (+2. 4)
4207 W $ROE 2 (ERERA-HE5R) 10,92 (+2. 4)
141l 9ok 2 (BRICGER-AER) 11,08 (+2. 4)
M2k w3 GEREHER11.18(+2.4)
428 h By EE 1 (ERERA-HER) 11,23 (+2. 4)
477 ek i B 2 (ERERR-HER) 11.31(+2. 4)
4027 J A2 GEERE-HER)11.31(+2.4)
326k MoK 2 (Hifm -5 ER) 11,55 (+0. 2)

(1048] (

1[ 3]
2[ 5]
3[ 7]
4[ 2]
5[ 4]
6[ 8]

[ 6]

[248]
1[ 3]
21[ 4]
3[ 5]
41 8]
5[0 1]
6 2]
71 6]
[ 7]

+0.6 m)

428 1 e 1 GEkiixs-5ER) 1. 34
409 /AR N1 GRERE-HER) 11,63
362 4 Jm AR N 1 CGRREREHER) 12. 02
3224y Fn M2 (ifiiE-swER) 12,08
360 4 FEIAE 1 (RRBLEEHER) 12. 40
306 R AF K1 (ENGR: TER) 13.53
401 BAIE 1 & 2 (REXE-wER) RI5

( +2.4 m)

308 B O KOEE 3 (BRuim-%ER)10. 84
420 B 6 2 (ks -5ER) 10. 92
314101 ok 2 (BRUER-HER) 11,08

M2k o B3 GEEE-HER 11,18
428 #h M By e 1 CEsfiks-%ER) 11,23
ATT ek w2 (ERFRR-HER) 11,31

4027k Jf A2 GBEREHER) 11,31
422 & 4y 5L 2 (RS 515 Ri5

—iZBEF 100m FTENMER A LL—X)

(1] (. +1.6 m)
1[0 5] 212 A4)13r i 2 (ERK-JEER)10. 92
20 4] 14550 &Rk 2 GLR-HER)11.16
3[ 1] 2351 M &k A 2 GRER- BEUR) 11. 49
40 8] 1129 % [E2 (RRFA-HER)11.54
5[ 2] 161 & A fEX 4 (MEFKHER) 11.65
60 7] 17564 JF  F CUmBEER Rx#) 12. 57
[ 3] 223 KPR HZR54 4 ORFER-EHIR) Ri5
[ 6] 97TH#ex RFHIR3 (RAK HHR) Ri5

(28]
1[ 3]
21[ 6]
3[ 5]
41 4]
5[ 7]
6 1]
71 2]
[ 8]

( +2.0 m)
234 BE K 2 G K-#ER) 10,75
207 gk seE 3 (HRK-F4K) 11.05
1D 2058 2 (RRRE-HER) 11.12
9K E H K4 (EEAAHER) 11,29
163 B4 k4 (HEFKHER)11.66
2026 = A4 (K- ER) 11,69
1280 H FEER1 GEEXCHER11.79
251 75 |l FE 1 O K-EHRR) KI5



(3481
1[ 3]
21[ 4]
3[ 1]
41 6]
5[ 5]
6[ 8]
[ 2]
[ 7]

(5481
1[ 3]
21 5]
3[ 1]
41 7]
5[ 6]
6[ 2]
70 8]
[ 4]

(78]
1[ 6]
21[ 4]
3[ 5]
4[ 3]
5[ 8]
6[ 2]
107]
[ 1]

[948]
10 3]
2[ 4]
3[ 6]
41 1]
5[ 2]
6[ 8]
710 17]
[ 5]

( +0.9 m)

158K ZE—2 WAEKR-HER)10.98
1074 A& # 3 (RKRF-#HER) 11,01
222 Nk HE =4 WA TER)11.09
194 i HRE 2 EFRAHER11.25
154 X% # &2 GrR-HER)11.33
121 8 N ks %5ER) 13,04
236 E H fH & 2 GRlER THR) K&
140 FE A B F] 2 GREKR- AR KI5
( +1.9 m)

58 4 % hth 4 CRER-#£R)10.85
23TH 5 5522 GRlER- K8 11.05
250 H HH MO T O7E K- BERGR) 11.09

26 /MR B (BARTC-%ER)11.18
254 ¥ K221 (K- KIRF) 11. 23
109&53%1(% 4 (RKIF-pEAR)11. 38
172 /& (b 33 (MEFK-HER) 11,70

57 ’ﬂiﬁfﬁﬁﬁ 3 CREER- M) k5

( +1.3 m)

114 1% g HE 3 (BKRIF-HER) 10. 92

143 /4K fF—  (NTN- =E ) 11. 03

232 /B A 2 RER-FAR) 11,04
TEX B4 GEEXHER)11.31
66 /N ST 3 (BR-EFER) 11,44
A M 2 R JemR) 11,50
0N BE EHA 1 (EERKSER)12. 74

249 FI) PRAE 1 ORER- (10 R) Ri5

( -1.2 m)

233w il AR E 2 (AR IR 11,07
210 gk — th 3 (BRK-#&)I1E) 11. 08
242 # g AR 5L 1 (BAR-HER) 11,42
123 fu i & 2 (BEK-HER)11.57
156 H 1 &1 GZK-HEI)11.58
28 A HECE RARTC-HER)11.73
178 ‘&= J5 B3 (CLHK-HER)12. 27
228 N B % 3 GREK-HKEE) i

[11#8) (  +0.1 m)

11 4]
2[ 1]
3L 6]
41 7]
5[ 5]
6[ 3]
70 8]
8[ 2]

204 T 3 A 2 (ERK-FA&R 11,02
226 #in K g 3 ORPER- BHUR) 11,08
60 &5 A K2 ORER-HEF)11.17
239 5 W HEF 2 Ok R R) 11. 23
105/ H 1E K 3 CRICR-HER) 11.40
162 3 ik 55 &5 4 (MEERHER) 11,57

1% A V% (LRS- ER) 11,97
19 BR)INIER  GiEER-5ER)13.76

[448]
1[ 6]
21[ 4]
3[ 3]
41 1]
5[ 8]
6 7]
[ 2]
[ 5]

[648]
1[ 4]
2[ 5]
3[ 3]
47 7]
5[ 1]
[ 2]
[ 6]
[ 8]

(8+A]
1[0 4]
2[ 5]
3[ 8]
41 6]
5[ 3]
6[ 2]
1017]
[ 1]

(1048] (

1[ 6]
2[ 3]
3[ 8]
41 7]
[ 1]
[ 2]
[ 4]
[ 5]

( +1.6 m)

59 & 4% B3 3 (BFEK-EiRIE) 10. 85
1025 )il B A3 (KEA- K2R 11.29
144 /K & 3 (L R-HER)11.36
227 Ve 28k 3 GRS 11. 60
126 1% H B 8 4 CERER-#ER) 11,88
124 /N33 M (RAmER-sER) 12,21
253 B By N 1 (K- BRI Ri5
1087 K v 3 (RKA-#HER) Ri5
( +0.2 m)

62 #% © st 2 CRPFER-#IR) 10. 74
225 R FF fF B3 (K- EHE) 10. 85
89 J& H A (hERER-wER) 10.92
1535 Al K2 GrR-#HER)11.18
69 H 1 (FHRK-#HER)11.33
20 1 B PEK (WEST-HEIR) Ri5
230 3 FH & 5L 3 (il K-HER) Ri5
197 By 6 CHE Ik 1 (BFRA-HER) KR35

( +1.0 m)
61T K6 FEEKHER)10.74
229 g5 A FEE 3 (WAK-BEER) 10,92
213 548 gL 2 (EEK- M) 11. 25
20 /NIARFRR (R hAam&RR) 11,27
67 ik ¥ 4 BR-EER)11.40
241 A A M 1 (PR ) 11. 47
196 /hRE Bath 1 CEFRK-HER) 11,67
262 B HE 1 WMBRHER) Ri5

-1.5 m)
146 KB # & 1 GLK-HAER) 11,18
157 ] B B3 (2K AR 11.58
142 /| #t GRERER-HER 11,95
177701 K (BE777-558)12. 21
1255 1 =12 (CRERER TER &5
21 A v 2 (TREERKSER Ri5
216 Ly < H 4 (R 8 IR) KI5
243 THNEL R B 1 (K- REFIR) Ri5

(12#8)] (  -2.1 m)

1[ 5]
2[ 3]
3[ 4]
41 6]
5[ 8]
6[ 2]
70 1]
[ 7]

1371 W 5k 2 GRER-HER) 11,10
195/ (i ZE 2 (BERA-HER) 11,41
215 [ |1 & 47 3 (EROK-RER) 11,53
238 Bk 1% s 2GRk THR) 11,59
1246 W KIE 4 (B KR 11. 81
155 R (a8 1 (GLR-ZmER)11.89
152 %¢ A it 3 (R-#R)I1R) 11,97
138 Kife 0524 GRER -HER) Ri5



(13#8] ¢ -1.4 m)
1[ 6] 255 [Lirp KAR 1 (A K- ER) 11,06

2[ 4]
3[ 3]
41 8]
5[ 7]

214 = ip KA 4 (EROK- ) 11,11
101k~ K 3 (BRRF-5=ER)11. 33
252 ¥F O ACHE 1 (IR R 11. 42
18341 & th (WMERACHEER) 11,62
60 2] 374 A %36 (MEEHAHER) 11.85
T 1 174 gk &k (Bl 77-558)12.72

[ 5] 40&n K Bk K4 (BEERKHER) Ri5

(15%88] (. +1.1  m)
10 5] 209 | ok %3 (ERK- /4% 10. 96

[14%8) (  +0.5 m)
103] 96 AffE~ 2 (KEAERSR 10. 63
2[ 5] 16Kt IES 4 (FHK-HER) 11.05
3[ 4] 1228 mBl4 (BRK-HER)11.07
41 6] 240 KAPREES 2 R K- TR 11,07
5[0 2] 1733k N Brih 4 (MEFKHER)11.69
6[ 8] 33pEM #hith 2 (HEERAHER)12.04
[ 1] 214 % FnE  (BRTC-HER) Ri5
[ 7] 206 )13 AER 4 (HA-HikR) Ki5

[1648] ( -0.1 m)

10 4] 18 e = (lfkER-%ER) 10. 89

2[ 3]
3[ 6]
41 4]
5[ 8]
6[ 1]
10 7]
8[ 2]

(17#8] (

1[ 5]
2[ 6]
3[ 7]
4[ 2]

[ 3]

191 [ A&
127 51

113 <F 1
245 K i
133 /N &
21 11
34 KR R

247 )11 &
103 [ i

184 & Bp R F — ]

169 [ i1

KA 4 (BERK-HER)10. 98
— i 2 (ERER-HE)IR) 11,07
A 3 (RKRF-HER) 11,11
Zm e 1 Gl R-BER) 11,32
PF AR (WAVE-#2%3)112) 11. 53
o (WEST-#EWL)11.55

& 2 (BRERKHER) 12,27

21 3]
3[ 5]
47 6]
5[ 8]
6[ 7]
71 2]

[ 1]

147 )1 1
205 = 7K
38FH
53 1 Af
68 & 1
192 )11 17

RME 1 (SER-HRUH) 10. 95
555 2 (HRR- K25 11. 36
L3 (FEERK-RER) 11.39
& (RERER-HER) 11,46
K 3 (k- REFI) 11, 61
Pt 4 (BERR-5ER) 11.96
Ri5

+1.0 m)

JA AR 1 Ol EIE) 11
W3 (REK-HER) 1.
(MERACHER)11.
FE AT 1 (MEFRHER) 11

03
28
36
14

246 i1k BB 1 (0K ER) Ri5

(18%8] (  +1.2 m)

10 4] 94 M FF=4 OK- B 10.78
2[ 6] 1485011 # AN 1 (LK-H5EI)10.96
3L 7] 160 A R — 3 (MEFK-HER) 11.49
40 5] 2443+ £ fE1 ER-HER)11.49
5[ 8] 22 % Rt (WEST-H &) 11.63

[ 2]

85 i o

R4 GEER-FER) Ri5

[ 3] 224 el KAR 4 (Bl K-HER) Ri5
[ 1] Ri5

[ 4] 158 B 7 KM 4 (L R-#5)IIR) Ri5
[ 8] M5 JINEE AN 4 (RKA-HER) Ri5
[ 1] Ri5
(1948 (.  -1.1 m)
1041 129 &k 46— 4 (EREX-E£R)10. 94
2[ 5] 208 i Af ACEk 2 (HBEAK-FHHE) 11,25
3[ 3] 65V M HJ&  GURKER fx#) 11. 38
4[ 6] 24875 & LT 1 O A-TER)11.40
50 7] 7107 #E Bl (FR-HEIE) 11, 41
6[ 2] 168 R fEFE2 (MEFKHER)11.75
7081 31 Ak LA 1 (GEERL%EE)12.37
[ 1] Ri5
R (34H)
[1#8] ( +2.3 m)
10 4] 148 )11 £ A1 GZK-HER)10. 87
2[ 6] 204 T jk #F#t2 (HRK-F4HK)10.87
3L 1] 191 1A KMt 4 EFERAHER)10.96
41 3] 1074k A # 3 (RKF-#HER)11.01
50 8] 247 )11k JA#R 1 GlfiK-EIFE) 11.05
[ 2] 232/)K7 #E4H 2 Ok H/R) Ri5
[ 5] 2315 K F—2 BWAEK-HER Ri5
[ 7] 143/h#k f$— (NIN- ZEHIR) Ri5

(248]
1[ 8]
2[ 2]
3[ 3]
47 4]
5[ 7]
6 6]
10 1]
8[ 5]

( +1.6
129 & #2
209 H
18 |11 IF
89 & H
229 &5 K
114 1% ik
1471 1

m)
i — 4 CEFEX-F4#R) 10. 82
K& 3 (HRK-F&E 10.83
= (IS5 £8) 10. 86
O GHEEG-5HER) 10,87
FE& 3 (GRAER-BESIL) 10. 89
M 3 (RKF-HER) 10. 91
KR 1 (32K HAU4R) 10. 97

212 &) 5RE 2 (HRARER) 10,97



(348) ( +0.8 m)
11 6] 2343 1% HE K2 CREA-5ER 1 Men
20 3] 96 FIA B 4 2 Ok BRER) 10, 56
3051 64T K6 HEEKHER10.67
40 4] 627 T HiMt2 GEEEA-HIHE)10.70
5[ 2] 225 Kk K FF IR 3 (ki k-2 10. 78
60 7] 597 #5 13 Gk BE10.79
T08] 94K F 24 Cfk- BEUD10. 82
8011 587612 it 4 ik -5EM)10.85

NP
e 3

234 1 A 2 ORI K-HER) 10 5460. 8
06 147 85 B2 4 2 (KAUk-E /LA 10. 56 (+0. 8)
677N K 6 (HEEK-HER 10.67(+0.8)
6275 F Hi M 2 GRIEX- B 10. 70 (+0. 8)
205 K K RF IR 3 Ol k- B 10. 78 (+0. 8
59 M5 B3 GREA- BRI 10.79 (+0. 8
04 11 2 4 (UK BT 10. 82 (+0. 8
129 & B fh— 4 (EREL-H45)10.82(+1.6

B - —MREF 400m RE(1248)

—y

~N N O 1 BN
N ARG ERNGARA

[148] [248]
10 5] 34438 % 4613 (REA-HER54.70 11 2] 432 047 1<% 1 (Bisa 458 57. 06
20 2] 369 %% [EIE 1 (ERIEA-HEH)56.58 20 7] 3350 [ sk 1 GEFURA-HER)57.70
30 7] 368 1L A 1 GEMER-SER) 58,21 30 6] 423~ A&l 2 (A -5ER) 57,95
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82 2. IR}
394

i 2 (LRAT-HER)

7 i 3 (KRR
B A 2 (ARRK-HER)
PRHE 2 (GZR-HrER)
ik GRTC-HER

& (RERACHER)
KA 2 (FifaE TER
PR 2 (FRPRE-RHER)
i — 2 CUER-HER)
=25 2 (WENR-HER)
g =F 2 (RS ER)
B2 BERAHEER)
FF L1 (RR-REFR)

1m40

MBF ESBE R

1m99
1m99
1m93
1m90
1m85
1m80
1m75
1m70
1m70
1m65
1m65
1m60

iR 2 (&N LR BL8a L

100 fif 355 K A8 2 (KK EIR) fodk% L
138 Kie 705 4 CREK-HER) Ri5
485 ft iy FnE 1 (WTAE HER) RiG
B2 (ABBK-HER) Ri5

hE4BF EMREk RE
Bz =F 2 (EREF-HER) 5m06
K 3 (LEFm-#ER) 5m01
FBE 1 (EEFES-HER) 4md3
Jn 252 (LRAEY-HER) 3mB6
— #8f 2 (VOLVER-5ER) &Ri5
oK 2 (LEATH-HER) Ri5

261 75 %

47 1A
12 °F- %
99 i
53 X

2 77

64 7 I

14
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=R - —HRBF ERBE RE

1[ 3]
2[22]
3[ 1]
429]
5[20]
6[27]
711 8]
8[21]
9[12]
9[30]
11[ 6]
12[11]
13 [10]
14 [26]
15 [25]
16 [31]
170 2]
18 [36]
19[ 4]
20 [34]
21[15]
22 [38]
231[17]
24 [19]
25 [39]
26 [18]
271[14]
28 [23]
29[ 5]
30 [32]
31 [24]
32 [35]
33 [13]
34 [37]
35[ 9]
36 [16]
[ 7]
[28]
[33]

1[ 3]
2[ 9]
3[ 5]
41 6]
5[ 4]
6[ 1]
10 7]

[ 2]

[ 8]

25 K &
258 M H
189 111 %
309 #H i3

50 #&

65 79 H

49 10 )11

52 I [
413155 %

81 & I
139 fif] H

83 A+ H
345 1Lr A
154 K B
161 & JF
271 i~ 2

82 2. IR}
47 /01

80 £
419 15 B
M8 H A
34T 1R =
323 j% K
301 74 A
480 2 H
358 H
356 [t A

35 A (LI
304 5 H
357 £ H
481 11 it
334 iy
371 i &
300 >k
348 15 K

o (RRER-HAR)
(VNG TGRS
P15 3 (BERAHER)
=k 2 (BRCER - HER)

e X (VOLVER-%EE)

R Gk /)
Bt (VOLVER-BER)
B (FER) 77 FER)

13 (ERFhA %10
BN 3 WR-FHER)

B4 CRER-HER)
A2 (FR-HER)
BB 3 (REm-HER)
wE2 GLK-HER)
it K4 (MEFKHER)
— M 2 (iR HER)
FHM1 ER-EHR)
2 GEXE-HER)
|4 (@ERHER
w2 EXEHER)
th2 2 (FERE-HER)
w2 (RER-BER)
HERN 2 (EfReE-HER)
& A 1 (EfeE-TER)
R 2 (WThE BER)
¥ BE 2 CRROLREHER)
328 2 (RRfLEE HER)
4 (EERK SR
e 1 (Efam - TER
g 2 (RRELRESER)
BN T (WTAREHER)
okt 1 G- wER)
K1 (ERER-HER)

7 1 (EfeE TER)
2 (RER-HER)

363 = BE1 (RAALKE RER)
g K 2 (SEK - BURHD) Ri5
352 [ Ik 1 (EER-FER) Ri5
472 % = i 3 (BAER-RER) Ri5

SREF faiix[6. Okg] RiH
286 9 & K& 3 (iErE - BHER) 10m65
B 1 (HfEE-HEE) 10mb9
289 & H a1 sl 2 (EfeGE: TER)

149 7K H

330 <5 L

305 52 (LI

Wi A 1 (EifaR TER)

294 RoNBr A 1 (EifaE: TER)

299 & fiF
274 /)N 5

21 (ERAR-TERD
#3E 1 (s 1R

m18 -0
6m87 -0
6m79 -0
6m73 -0
6m60 0
6m58 -0
6m53 -1
6m49 +0
6m31 -1
6m31 -1
6m27 -0
6m26 0
6m17 -0
6m10 -0
6m09 -0
6m00 -0
5m90 -0
5m78 0
5m75 -0
5m69 +
5m65 -
5m62 +2
5m60
5m60
5m54
5mb1 +
5m43 -
5m42

5m40 -
5m37 -
5m35 -
5m25 +1
5m00 0
4m70 -0
4m63 -0
3m79 +2

+ + +

1
0
0
0
0
1
0
0
0
1
0

9m75
8m16
Tm64
/m08
om41

A g A1 (RS- HER) Ri5
R 1 (BRIUGER A ER) Ri5

315 8 41

.8

N
)
.2
.0
.8
.0
.2
.2
.0
.6
.0
)
.9
.6
.2
.3
.0
.
.2
)
.2
3
3
.
.8
.
.0
)
4
.8
.6
.0
.6
.9
.2

NEERY AN

16

22|

3m33 -0.5
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—R& 5B F FadLix(7. 260kg] RAE

1[ 5]
2[ 3]
3[ 1]
41 2]

[ 4]

844  th KMI (FgK- & EIR) 14m92
231 A (BREER-HER) 11mb3
180 F A —#f 1 CroR: THER) 10m36
0 Nk AT 1 (RERK-HER) Tm25
1505  H w2 GIK-HER) RS

INEEBF DoAYy I R—ILERL ] R

1[10]
2[ 7]
3[ 9]
4 8]
5[ 3]
6[ 5]
1[0 2]
8[ 4]
9[ 6]
10[ 1]

= AR
1[11]
2[14]
3[ 3]
4[13]
5[ 8]
6[17]
7[ 9]
8[ 4]
9[16]
10[ 5]
11[ 6]
12 [15]
13[18]
14[12]
15[20]
16 [ 7]
17[ 2]
18[ 1]

[10]

[19]

445 A6 (Lbzide HER) 43m40
10K TF 1256 (LEV2=75IR) 42m94

1#% B #f6 (LBV2=7 HER) 35m64
45 25 JF I 6 (LHZiEL HER) 35méT
30 #8 Pl OB 4 CREIER-HER) 34mT79
25 R A 40 % 4 (ERV2=7-5ER) 31m96
68 5k BEPFF 6 (HNV2=75ER)31mI3
TA7RH & Y84 ENY2=7 5E%) 25m87
36 &Il K/E 5 (B 77-5ER) 18m78
20 /1 W WE 4 CREfIER-HER) 15m27

- —REBF © UK [800g] RE5

b4 A H s (WEER HER) 62m06
166 4l 5% — BB 4 (WEFER-&HER)55m17
354 75 ik — fif 2 (RAAERR HER) 51mba

3128 A BR— 2 (HRXAR HER)49m63
41355 % B3 (ERERR-5ER) 47Tm82

318 Tk HEth 1 (BROUHs-HER) 42m07
350 [ o Rk 2 (RER-HER) 41mI3

437m W 2 (Bfm -5 ER) 41m88
6 & 4 (EERK-HER) 38mT8

408 0 K& 1 (BiMe-5HER) 38ml1

21352 I 31 (WErA-HER) 3Tm92
353 & T MM 1 (LERm-HER) 34m13

164 /1 i
482 =
305 52 1L
430 iF fE
464 — 4
299 &
427 J 1l
95 5 Ji

R#i 3 (EFRFHER) 31mb8
KB 1 (WFaaE5ER) 31m20
e A= 1 (Eif 6 & TER) 30m72
A1 (ERERR A ER) 29m43
HhgE 1 (R RA A ER) 26m43
1 25 1 (ERaR- TER) 22m42
B 55 2 (Ekike HER) Ri5

] #5 2 CRHOR-REIS IR R 15

INFELZF 100m FTEOEFALL—X)

(1#8] (

1[ 6]
2[ 4]
3[ 5]
41 3]
5[ 7]
6 1]
7[ 8]

+0.5 m)
2k &6 (LRY2=75ER) 14.79
80 =l k3L 5 (AFA-#HER)14.80
199 Vznw V44 (FEV2=75%8)15.25
12 HEEIRZERL 5 (LRY22755H) 16. 30
54 4= 111 45 (LbZiEk #ER) 16. 58
17THN R BT 4 (FRV2=7 5E5) 16. 93
50 FJF 5 (LhZiEL HER)17.12

18

81l 2]

16 48 =

%4 (LRV2=7 5E8)17. 23



[(248] (
1[ 4]
2[ 3]
3[ 6]
4[ 5]

-1.7
31 ¥ 1

m)

we Jh 6 CHEfiEs R ER) 14. 67

42 /NEEFRCAE 5 (Lo 2L 5ER) 15. 54

21 B4)1|
297 %

FiE 4 (FRV2z75%8)15. 89
oy 4 (FEV2=7%%5K) 16. 38

19

5[ 2]
6[ 8]
70 1]
8[ 7]

5100 (1 &5 (LhZiie5ER)16. 91
164 T fE4 ENVa=75E8)17.16
1089 B 5 (LEVaz7-5ER)17.57
2012 g4 (bRY2=7-5ER)17.82



[3#8]
1[ 5]
2[ 3]
3[ 6]
4[ 4]
5[ 2]
6 1]
710 7]
[ 8]

(5481
11 4]
21 6]
3[ 5]
4[ 3]
5[ 1]
6[ 8]
71 2]
8[ 7]

(74#8]
1[ 5]
2[ 3]
3[ 4]
4[ 2]
5[ 1]
6[ 8]
710 17]
[ 6]

[948]
1[ 6]
2[ 2]
3[ 3]
4[ 5]
5[ 4]
6[ 8]
107]

iR B

(  +0.7

1[ 5]
21 4]
3[ 6]
41 2]
5[ 3]
6 7]
1[0 1]
8[ 8]

(  -2.17
4 7
39 It &
184 1

m)
HES6 (bEy-=7-%%E)14. 88
w456 (Lholil BER)15.34
H b 6 (ARR-HER) 15,52
11 /081 5 (FRy2=7%%8)15. 93
6% AK Bit6 (LEV2=7HEE)17.04
225 K b4 (LRVa=T75ER) 18,44
23 KA 32 4 (LRV2=75BEE) 18. 49
5358 = B4 (LhZHE-HER) RiF
( -2.2 m)
64 &5 K A4S 6 (ENV2=7-HER) 14.58
6285 B 16 ENva=7-5%R)14.90
OMN M 135 (bEv2=7%%k)15. 29
46 ZE 4K Al 35 (LhZiie 4ER) 15,95
A9 BRILAZ MR 4 (LbZITE5ER) 16. 76
67 ¥h kS E[BES (ENY2=7-5ER)17.03
1989 b4 5 CARA-HER)17. 25
T4 B4 (Heya=74E8)17. 34

( -0.2 m)
402276 BLK 5 (LhZiEe #ER)15.19
36 &5 K 36 GiimEg sER) 15. 41
AP AR HEJHE 5 (ETER 5 ER) 16. 32
12/h80 & & 5 (Ellvaz7-5%k) 16. 50
BHEYF EAFS ENV2=75%R) 16. 88
56 fx A P EE S5 (LhZiEL HER)17. 21
66 51 H AL 5 ENV2=75%£H)17.35
30 A H E 16 CREmiE HER) Ri5

( +0.4 m)
14 FKRERE 5 (FEV2=7558)16. 11
5B #.06 (LEV2=74ER)16. 51
27 B ¥4 (LEva=7#%8)16.97
15 MR A 5 (bRVa=7 550 17.17
18U 4 (FRY2=7 555)17.50
58gn AR FH A4 (LhZiEe4ER)17.99
284 B M4 (bRV2=75H%H)18.16

m)
38 & H
64 &5 A
31 wgy
4 73
2 k)1

BRZs6 (LhZifL #%55)13.85
Zs 6 (EyVa=7 558) 14, 27
We Ty 6 (FEfER-5ER) 14. 39
H 6 (FEV2=7 5EE)14. 62
A6 (FRV2z7 5E0) 14, 74
80 2 L #EE 5 (ARA-HER)14.75
6255 B 16 (ENva=7%%R)14.76
68 /N Ak FHAE 5 (ElV2=7-5ER) 14. 78

20

[448]
1[ 3]
21[ 6]
3[ 5]
41 7]
5[ 8]
6[ 4]
70 1]
[ 2]

[648]
1[ 6]
2[ 5]
3[ 7]
41 3]
5[ 8]
6 2]
70 1]
[ 4]

(8+A]
1[ 6]
21[ 4]
3 2]
41 17]
5[ 8]
[ 3]
[ 5]

( -2.6 m)
38 M ERZ& 6 (LhoiEt-4%ER) 14. 26

A1 BLAE 6 (LHZiEe-HER) 16,04
4388 A AHT 5 (LbZie-5ER) 15,92
52 W RMEZS 5 (LOZH L %ER) 16. 38
13K% (&5 (LBV==75ER) 16. 49
41 Rl H5 (LhlHeHER17. 21
57l g B 4 (LHZiEe-HER) 18.50
55 Il =% A #t 4 (LHZiH L HER) Ri5

( -1.0 m)
68 /1 pk FHAE 5 (ENV2=7-5%R) 14. 84
44 T3 FJh6 (Lol HER)15.64
NRWE =5 ENVa=75ER)16. 42
8% K P4 (LbZie5ER) 16. 51
65 N H¥x6 ENVa=75ER)16. 63
25N H sERE 4 (BEV2=755R)17. 47
24 FHAGEAFE 4 (LEV2=T5ER) 17. 81
35%& R K it 6 GHlmbed 5tk K5

( -0.9 m)
324 H £ 6 Giimbed stk 15. 41
14395 6 5 5 (EV2=75%8) 16. 60
100 #9e5 (EYa=75%55) 16. 65
1710 LB 4 ENYa=7515)18. 32
26 /)11 2B A 4 (FEVa=7-5%K) 18. 60
150 A 5 ENVa=T8ER) Ri5
A tx A L e (LoZHE#ER) Ri5



FEELZF 100m FEGH2AMLL—X)

(148]
11 4]
2[ 6]
3[ 5]
4[ 7]
5[ 8]
6 2]
1[0 1]
[ 3]

[348]
1[ 8]
21[ 6]
3[ 7]
41 4]
5[ 3]
6[ 2]
[ 5]

[548]
1[ 5]
2[ 3]
3[ 4]
4[ 2]
5[ 8]
6 7]
[ 6]

N

(  -0.1

1[ 6]
2[ 5]
3[ 4]
41 3]
5[ 7]
6[ 8]
71 2]
8[ 1]

=
[148]
1[ 3]
2 4]
3] 5]
41 2]
5[ 7]
6 8]
10 1]
[ 6]

X-—f&ZF 100m

(0.6
49 A+

m)

=R 2 (FRATPHER)13. 74
52 7k b 2 A 2 (FRATH-4ER)14.13
46 [ e £ A 1 (FEATH-5ER)15.17
944K a1 (LREAT-%HER)15.20
83 MM A 2 (LEAT -%ERK)15. 40
18 4 M HE4x 2 (LREFH-5ER) 16. 09
5% 1 (LREY-HER)17.57

100 #h [ & 56 3 (LEFET-HER) Ri5

( +0.7
15 [ % B 3 (LERAT-HER) 14,54
10 KA B &2 (FREmP-5ER) 14,85

2 H £ (ERR-5ER) 15,07
8o As EE 2 (LEAT-HER)15.14
148 7 FR Y 3 (EERAT-%ER) 15,50
50 A 1B A 2 (EEATH-5EE)15.64
13 A ff 2 3 (LEXRTHER) KI5

( +0.8 m)

ST A AR3E 1 (LERP-HER) 14.12
SE- M HEAHE 1 (LREMH-HER)14. 52
BAA 24K/ 2 (LEEER-HER) 14, 61
N2wmA EHE1(LERR-%HER)14.80
65 7 X421 (LREFF-5#ER)15.35
53 KB K22 (LEXTHR-5ER)15.54

6 SR~ 1 2 (FRFM-8ER) &5

m)

m)

49 KA 5= E 2 (FEKTF5HER)13.74
ST A& E 1 (FEHF-HER) 13. 82
b4 FEAR 172 2 (BEATP-HER)14.03
524k F E A 2 (FEATR-5ER) 14,06
NZEE EW2 (LERFHER) 14, 28

Ty 5= B2 (RRET-%ER) 14, 46
84 — KU D 2 (LRET-HER) 14,59
55 4B B 3E 2 (EEATH5HER) 14. 59

( +0.6 m)
575 B FIZAS 1 (UAMRA-LRR) 12, 35
53 BF S MR 3 CERER-#ER)13.15
22 JE 38y 46 (VOLVER-%EH)13.93
1570 i 2= 1 (EAE-TER) 14,20

M9 m Egh1 (BhE-wER) 14,48
2341 #%4  (VOLVER-%%ER)14.80
N%EAEEETF 1 PREERKHER) 15,19
32 fa Bz mk B3 (A LER) Ri5

21

(248]
1[ 3]
2[ 5]
3[ 4]
47 2]
5[ 8]
6 7]
10 1]
[ 6]

(48]
1[ 5]
21[ 3]
3L 7]
41 4]
5[ 8]
6L 6]
71 2]

(648]
1[ 3]
21[ 4]
3[ 6]
41 8]
5[ 5]
6 7]
71 2]

(348]
1[0 1]
21[ 3]
3[ 4]
41 6]
5[ 7]
6[ 5]
71 2]
8[ 8]

( -0.5 m)

84— UMD 2 (LENT-HER) 14, 44
42 Ky /NFE 2 (ERRT-HER) 14,58
36 75 ik A4S 2 (LEFT-wER) 14,95
18 g IZ D> 2 (LEKAT HER) 15.16
Ay F O 1 (EREF-HER)15.18
04k &1 (EERT-5#ER)16.70
66 NH WS4 2 (LELER-5£K)18. 14
WAEEDD A1 (LEEFHER RiF

( -0.9 m)

T 2= B2 (RREmT-5ER) 14. 40
55 & pMEH 32 2 (FRATH-5ER) 14. 51
271+ 5 J5 1 (BRRF-5ER) 14. 69
M/ BRAE 2 (ERER-HER)14.72
229 7 %01 (LRARAT-5ER) 15. 23
92 H:¥ HE ¥ 1 (LERT-5ER)15. 48
14 P EE 2 (FEETR-5ER) 15. 66

( -1.7 m)
bATEM 137 2 (FEKTER-HER)14.14
A EVE w2 (EERT-HER) 14.40
JTHFADY 2 (LERT-HER) 14. 64
20 /NE A 72D 1 (LRARH-HER) 14. 97
12 878 & N2 (LREER-5ER) 15, 36
64 "R H - 2 (LEEEFR-5ER) 15, 45
6100 k31 (FEEER5HER) 16. 80

FENOEF A LL—R)

( +1.1 m)
2870 11 EEE 2 (BR-HER)12.25
141 RAERTEM 1 (ERFhR %R 13.15

120 R APk 22 1 (-5 £ 13. 30
N7E /A vs1 (Bi&E HER13. 64

1380 e #1 (RRERA-5HER)13.98
94 M H A6 (EENKAER) 14.24
20550 A& (777 814,41

V=
137 284 B 45 1 (ERFhRE 5ER) 15. 59



(4%8)
10 1]
2[ 3]
3[ 8]
41 4]
5[ 6]
6[ 2]
[ 5]
[ 7]

[648)
1[ 5]
2[ 4]
3[ 2]
41 7]
5[ 1]
6[ 8]
[ 3]
[ 6]

(8481
1[ 6]
2[ 5]
3[ 3]
4[ 4]
5[ 8]
6[ 7]
1[0 1]
[ 2]

(1048] (

10 4]
2[ 3]
3[ 1]
41 2]
5[0 7]
6[ 8]

[ 5]

[ 6]

(  +0.6
151 - 3¢
743%

m)
5 3 RELEA-%ER) 12.00
£ &1 (IRERLHER) 13,28

AR ACOIHE 4 (FRR-5FER) 13. 39

115?553
129 /)N 5
10 A AY
25 8 1

il 32 2 (R - FrRIR) 13. 44
i 2 (ERERR-HER) 13. 93
A1 (ReEEm-HER) 14. 81
TR 3 (WR-HER) Ri5

123100000 2 BREERKSER) Ri5

( -0.4
31 &
114 15 [
59 f &
109 )11 H

m)
By 2 (K5 EI)13.32
1 Bt 2 (B ER) 13. 43
T8 4 (MEFKHER) 14,12
KA 1 GekiExm-5ER) 14.18

81 gn AR b4 1 (KA HER) 14.70

71 K&
44 FF (L
48 A )1
(  -1.2
30 H A
39 %5 M
38 i N
124 & 16
VAR N

M3 Mo A 2 (RiE-5

HE 1 (RErA- 5 ER) 15,16
FERR T ORRR ILEIR) Ri5
PEAE 3 (RKF-HER) K15
m)

A2 (BR-BrER)12.54
f’\% 1 CREKERER12.76

75 2 (KEA-#A&)R)12. 95
El ﬂl 1 (FrRskE %ER) 13,29
P 1 (UAERRLRR) 13. 46
) 14. 06

165 )¢ Wy Mg 2 (ERERA HER) 14.73

68 g

111 44

-1.2

g & 2 (WiEEE HER) 5
m)

KA 2 (B HER)13.22

96 & R fE 2 (HIEmRH HER)13. 42

131 AGRFSFIWL 2 (RBRFRR-

56 5

118 # A
106 & A~
20 H 3&
4710 1

iR B (278)

(1#8)
1[ 5]
2[ 6]
3[ 3]
41 4]
5[ 7]
6[ 1]
71 8]
8[ 2]

(  +1.4
151 + 3
152 18 U
35 £ H
26 J5 &

BER)13. 42
L3 (BhK-w&R)13. 61
% HE 1 (B ER)13. 84
H 3 1 (efika-5ER) 14. 88
I3 (VOLVER-BER) KI5
2 (RRFA-WER) K5

m)
A E 3 (REUEK%ER) 11,92
£ HE 3 GikiFk-HER12.19
B 2 (KAEK-HER)12.30
FETY 4 BR-HrEIR)12.47

27 /NGESERE L 3 (R -EEIR) 12. 48

38 W
40 7H H

o3 B -

i 2% 2 Rz )1%) 12. 68
E% 1 CRER-HZ)I1) 12,70
AR 3 CERER-HER) 12. 97

22

(5#8] (

1[ 1]
21[ 4]
3[ 6]
41 3]
5[ 8]
6[ 7]
71 2]

[ 5]

(7#8)
1[ 4]
2[ 6]
3[ 3]
41 5]
5[ 1]
6[ 8]
[ 2]

[948]
1[ 3]
2[ 6]
3[ 1]
4 4]
5[ 5]
6[ 2]
10 7]
8[ 8]

[248])
11 6]
2[ 3]
3[ 4]
41 8]
5[ 7]
6[ 1]
11 2]
[ 5]

(  +0.4

( -0.9

(  +1.3

+1.2 m)

152 4@ W £ &8 3 CRak-HER) 12.
27 /ISR RE L 3 (B k- B E ) 12,
29 5 &

132 #h

136 Zx M

76 B H
95 & HFnA 4%
m)
26 J7 H
50 1%

142 £+ 24
13 &)1
83 /N
148 &5 K
51 & {E

m)
35 1 W
36 k 4=
40 25 H

135 7R 4

m)
287 A
30 H A
36 Fk 1
39 &5 H
29 % &
50 >~
141 KAECRTEMR 1 (ERFhR -5
575 FiZs 1 (L3

LR 4 (RFR-F R 12,
2y 2 (ERERE HER) 13.
RK 1 (ERFRA-GER 14.
80 AT A AL 1 (Wi HER) 14,
KA1 (EFaR-TER 14,
2 (HENRE-HER) Ri5

) 4 (R ER) 12,
& i 2 (ARER-HER)13.
A1 (ERERA A ER) 13
%y 2 (RERK-HER) 14,
73 1 (e HER) 14,
WL 2 (WFRE-HER) 15,
7 2% 1 (ALikR-HER) Ri5

HAY 2 CRICR- B R 5D 12.
i 3 CRECR-Hi R 12.
H 1 OUR-z)IR) 12,
A1V IRARPEE A 1 ORBOR: THER) 13.
N2 758 K én2 (Bm-HER)13.
STHhAr ZEme 2 (MEFRHER)13.
TT/h#k B 2 CGRRRE- SRR 14,
W& 1 (ERERR-HER) 14,

X2 (WR-FHERI2
B A 2 (BR-BrER) 12,
il 3 ORR- B 5D 12.
By 1 K- ERER) 12,
N4 (BR-HER)12.
& W2 (REER-HER) 12,
iR 13.
R IRE) Ri5

35
61
10
68
06
11
18

54
15
22
62
19
65

40
44
89
16
53
817
06
14

02
18
33
41
51
90
09



I AN
s

1 151 3¢
287 1
30 A AY
152 18 W
35 £ H
36 FK 2
39 %6
26 LA

O ~Jdo 1w

=4
[148)
1[ 1]
2 3]
3[ 5]
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